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Sem - III / T. E.
Fab. Manuf - I

Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4 marks.

Answer all Five questions from Group C, each question 

carries 6 marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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Write about the features of an ideal shuttle 

checking mechanism.

Mention the features of a good warp yarn. 

Describe the various types of heald.

 

Synchronization between take-up and let-off system 

is must-explain the statement in your own words.

OR

9.

6

6

P.T.O

8.
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1. Choose the most suitable answer from the following

options :1x20=20

(i)

(i)

(ii)

P.T.O

GROUP - A

OR

A weaving machine is technically termed as.

(a) Spool

(b) Loom

(c) Blowroom

(d) None of these

Open shedding is mainly used in-

(a) Powerloom

(b) Handloom

(c) Both (a) & (b)

(d) None of these

                 GROUP  - C

7.

6

6 x 5 = 30
Answer all Five Questions.

Classify shedding. Explain the working of semi-

open shedding with a neat diagram. Also mention 

on the merits of semi-open shedding.

threads from weaver's beam to cloth roller in a loom.
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(iii)

(iii)

(iv)

(ii)

OR

6.

4

(a) Crankshaft

(b) Loom shaft

(c) Main shaft

(d) Bottom shaft

(a) Narrow looms

(b) Medium looms

(c) Broad looms

(d) None of these

How the intensity of picking force is regulated in

under pick motion ? Explain briefly.

How the size of crank affects the working of a 

loom ? Describe it in brief.

1628305

OR

4

5.

P.T.O
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3. (iv)

(v)

(v)

(vi)

OR

Self threading shuttles are used in -

(a) Automatic cop-changing looms

(b) Powerlooms

(c) Handlooms

(d) Automatic shuttle changing looms

box are called as-

(a) Temple

(b) Swell

(c) Fell

(d) Weft fork

Write a short note on Texture of Fabric.

an open shedding.

Describe it in short.

4
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4

4.

OR

P.T.O
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(vii)

(vii)

(viii)

(vi)(xx)

Answer all Five Questions.
4 x 5 = 20

2.

4

When insufficient force is applied to the 
shuttle to reach the opposite box, it is called
(a) Weak pick
(b) Hard pick
(c) Harsh pick
(d) Early pick

The larger the crank used, the eccentricity 
will be-
(a) Less
(b) Unchanged
(c) Constant
(d) More

Write about function of sley in the weaving process.

a loom.

1628305
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P.T.O
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(viii)

(ix)

(ix)

is called as -

(a) Shuttle Trapping

(b) Loom Bang-off

(c) Shuttle Fly

(d) Shuttle Projection

(a) Fast reed motion is used

(b) Loose reed motion is used

(c) Both (a) & (b)

(d) None of these

(a) Weft bars

(b) Ridges

(c) Floats

(d) Cracks

for-

(a) Heavily Wefted Fabrics

(b) Thin Wefted Fabrics

(c) Medium Wefted Fabrics

(d) None of these

1628305

(x)

(xviii)

(xix)

(xx)

(xix)

P.T.O
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The operation of bringing the shuttle to rest 

at the end of its travel is known as-

(a) Picking

(b) Checking

(c) Beating up

(d) Shedding

Texture of a Fabric Mainly depends up on-

(a) Elasticity of warp and weft threads

(b) Crimp of warp and weft threads

(c) Numbers of ends and picks per inch

(d) Tenacity of warp and weft threads

(a) Positive Take-up motion

(b) Positive Intermittent Take-up motion

(c) Positive Continuous Take-up motion

(d) Negative Take-up motion

the shed is -

(a) Closed

(b) Half opened

(c) Completely open

(d) None of these

(xi)

(xi)

(x)

1628305

(xii)

(xvii)

(xvii)

(xviii)

(xvi)

P.T.O
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is called as -

(a) Reed cap

(b) Gauze

(c) Dent

(d) Count

to be-

(a) Harsh

(b) Soft

(c) Weak

(d) Very Weak

related to the

(a) Size of the shuttle

(b) Warp Tension

(c) Weft Tension

(d) None of these

Rope or chain let-off motion is a -

(a) Negative let-off motion

(b) Positive let-off motion

(c) Both (a) & (b)

(d) None of these

(xiv)

(xv)

(xv)

(xiv)

(xii)

(xiii)

(xiii)
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(xvi)

P.T.O
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OR

OR

10.

Calculate the production /hr. in meter of a loom 

with pick density 100, loom speed 600 PPM and 

efficiency 70%

pick motion with the help of a neat diagram.

Write down the objectives of take-up motion. 

Describe the working of a seven wheel take-up 

motion with a suitable sketch.

6

P.T.O

OR

OR

10.

Calculate the production /hr. in meter of a loom 

with pick density 100, loom speed 600 PPM and 

efficiency 70%

pick motion with the help of a neat diagram.

Write down the objectives of take-up motion. 

Describe the working of a seven wheel take-up 

motion with a suitable sketch.

6

P.T.O
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OR

11.

motion. Explain the working of a side weft fork 

motion with a neat diagram.

motion.

***

6

OR

11.

motion. Explain the working of a side weft fork 

motion with a neat diagram.

motion.

***

6
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